

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form 990-PF Department of the Treasury Internal Revenue Service

Return of Private Foundation or Section 4947(a)(1) Nonexempt Charitable Trust Treated as a Private Foundation Note. The foundation may be able to use a copy of this return to satisfy state reporting requirements

OMB No 1545-0052

-	For c	alen	dar year 2011 or tax yea	r beginning		, and ending		
			foundation DEY H MITCH	ELL FAMILY F	OUNDATION		A Employer Identification	number
	W	EL	LS FARGO BK	TRUST TAX (MAC N9500-054	1)	41-6222997	
			•	if mail is not delivered to street	address)		B Telephone number	
	_2	<u>22</u>	W. SUPERIO	200	218-723-27	65		
			own, state, and ZIP code UTH, MN 55	802			C If exemption application is pe	ending, check here
			all that apply	Initial return	Initial return of a fo	rmer public charity	D 1. Foreign organizations	check here
ক্র				Final return	Amended return	•		
E	<u></u>			Address change X Section 501(c)(3) ex	Name change		Foreign organizations med 2. check here and attach cor	eting the 85% test,
	FHF C	heck	type of organization	E If private foundation stat	us was terminated			
			ction 4947(a)(1) nonexer		Other taxable private founda	tion	under section 507(b)(1)	
ZOSTULARI DATE	∭a Fa		rket value of all assets at	· —	<u> </u>	Accrual	F If the foundation is in a 6	
311	(fr		Part II, col. (c), line 16)		her (specify) mn (d) must be on cash b	ages l	under section 507(b)(1)	(B), check here
3		irt l	Analysis of Revenue a	nd Expenses	1		(a) advisad as	(d) Disbursements
AY			(The total of amounts in col- necessarily equal the amou	umns (b), (c), and (d) may not nts in column (a))	(a) Revenue and expenses per books	(b) Net investment income	(c) Adjusted net income	for charitable purposes (cash basis only)
 دارات		1	Contributions, gifts, gran					
2		l	Check X if the foundate Interest on savings and temp		312.	312.	312.	
2012		3	cash investments Dividends and interest fr		148,196.	148,196.	148,196.	
. •		٠	Gross rents	om secundes	140,150.	140/1701	140,150.	
			Net rental income or (loss)				_	
	Revenue	_	Net gain or (loss) from sale or	f assets not on line 10	193,865.	M*************************************		
		b	Green sales nace for all	1,573,460.				
		7	Capital gain net income (from	Part IV, line 2)		193,865.		
		8	Net short-term capital ga	ın		!!!!*!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!	N/A	
		9	income modifications Gross sales less returns	1				
		10a	and allowances		***************************************		······································	***************************************
		l .	Connected as (local)	L		······		***************************************
		11	Gross profit or (loss) Other income		56.	56.	56.	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		12	Total. Add lines 1 throu	nh 11	342,429.	342,429.	148,564.	
		13			0.	0.	0.	0.
		14	Other employee salaries	and wages				
\approx	/A	15	Pension plans, employe	e benefits				
201	Ses		Legal fees					
- C	Expens	b	Accounting fees	WED	6,835.	6,835.	0.	0.
MAY 17		C	Other professional tees		38,856.	29,142.	0.	9,714.
>	Administrative	17	Taxes MAY	4 9949	574.	0.	0.	0.
N.	istra	18 19	Taxes MAY 1 Depreciation and depleti	© 2012 S	3/11		·	······································
	i.E	20	Contrancy					
<u>u</u>		21	Travel, conferences, and	meetings	132.	0.	0.	132.
3	and	22	Printing and publication					
		23	Other expenses		5,084.	3,340.	0.	0.
SCANNED	Operating	24	Total operating and add			22 21 -		
	å		expenses. Add lines 13		51,481.	39,317.	0.	9,846.
	•	25	Contributions, gifts, grad	-	458,500.	<u></u>		458,500.
		26	Total expenses and dis	Dursements.	509,981.	39,317.	0.	468,346.
	_	27	Add lines 24 and 25 Subtract line 26 from lin	 e 12	309,901.	37,317.	· ·	400,340.
		1	Excess of revenue over expe		-167,552.			
			Net investment income			303,112.	<u> </u>	
		C	Adjusted net income (if			······································	148,564.	
	1235 12-0	01 2-11		Reduction Act Notice, see	instructions.			Form 990-PF (2011)

WILDEY H MITCHELL FAMILY FOUNDATION

WELLS FARGO PRIVATE CLIENT SERVICES 41-6222997

Page 2

		Rolanco Shoots Attached schedules and amounts in the description	Beginning of year	End of	year
	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only		(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash - non-interest-bearing	1.		
i		Savings and temporary cash investments	80,416.	69,313.	69,313.
	3	Accounts receivable			
		Less allowance for doubtful accounts ▶			
	4	Pledges receivable ►			
		Less allowance for doubtful accounts			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons			
	7	Other notes and loans receivable			
		Less allowance for doubtful accounts ▶			
S	8	Inventories for sale or use			
Assets	9	Prepaid expenses and deferred charges			
ď		Investments - U S and state government obligations STMT 8	466,204.	333,785.	370,255. 4,866,560. 929,843.
		Investments - corporate stock STMT 9	4,764,197.	4,706,610.	4,866,560.
	C	Investments - corporate bonds STMT 10	934,662.	968,220.	929,843.
	11	Investments - land, buildings, and equipment basis			
		Less accumulated depreciation			
	12	Investments - mortgage loans			· · · · · · · · · · · · · · · · · · ·
	13	Investments - other			
	14	Land, buildings, and equipment basis ▶			
		Less accumulated depreciation			<u> </u>
	15	Other assets (describe			
	16	Total assets (to be completed by all filers)	6,245,480.	6,077,928.	6,235,971.
	17	Accounts payable and accrued expenses			
	18	Grants payable			
S	19	Deferred revenue			
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons			
iab	21	Mortgages and other notes payable			
_	22	Other liabilities (describe)			
				0	
_	23	Total liabilities (add lines 17 through 22)	0.	0.	
		Foundations that follow SFAS 117, check here			
Ø		and complete lines 24 through 26 and lines 30 and 31.			
ညီ	24	Unrestricted			
aga	25	Temporarily restricted			
9 9	26	Permanently restricted Foundations that do not follow SFAS 117, check here			
٦					
ğ		and complete lines 27 through 31.	6,301,398.	6,301,398.	
sts	27	Capital stock, trust principal, or current funds	0,301,330.	0,301,330.	
SS	28	Paid-in or capital surplus, or land, bldg, and equipment fund	-55,918.	-223,470.	
Net Assets or Fund Balance	29	Retained earnings, accumulated income, endowment, or other funds	6,245,480.	6,077,928.	
Ž	30	Total net assets or fund balances	0/213/1001	0,011,75200	
	21	Total liabilities and net assets/fund balances	6,245,480.	6,077,928.	
_					
P	art	Analysis of Changes in Net Assets or Fund B	alances 		
1	Tota	I net assets or fund balances at beginning of year - Part II, column (a), line	30		
		st agree with end-of-year figure reported on prior year's return)		1	6,245,480. -167,552.
2	•	r amount from Part I, line 27a		2	-167,552.
3	Othe	r increases not included in line 2 (itemize)		3	0.
4		lines 1, 2, and 3		4	6,077,928.
5		eases not included in line 2 (itemize)		5	6 077 928
<u>6</u>	Tota	I net assets or fund balances at end of year (line 4 minus line 5) - Part II, co	olumn (b), line 30	6	6,077,928.
					Form 990-PF (2011)

Form 990-PF (2011)

Fo	orm 990-PF (2011) WELLS	S FARGO PRIVATE	E CLIEN'	T SERVIC	ES			4	1-622	2997	Page 3
F	Part IV Capital Gains an	d Losses for Tax on Ir	nvestment	Income							
	(a) List and describe the kind(s) of property sold (e.g., real estate, 2-story brick warehouse, or common stock, 200 shs MLC Co.) (b) How acquired P - Purchase D - Donation (m.)						(c) Date (mo , d	acquired lay, yr)	(d) Dat (mo., d		
18											
ī		STATEMENT									
_											
_											
	(e) Gross sales price	(f) Depreciation allowed (or allowable)		t or other basis xpense of sale					ain or (loss) s (f) minus (
	1										-
_t								· · · · · · · · · · · · · · · · · · ·			
_(<u> </u>										
_ (<u> </u>									
_6		·		1,388,59	3.					193	<u>,865.</u>
_	Complete only for assets showing g	ain in column (h) and owned by	the foundation	on 12/31/69			(1)	Gains (C	ol (h) gain	minus	
	(i) F M V. as of 12/31/69	(j) Adjusted basis as of 12/31/69		cess of col (I) col (J), if any			COI	Losses	not less than (from col. (h)) 	
_ 2	1										
<u>t</u>		 	ļ								
_(<u> </u>								
	1			 						100	065
_	B		<u> </u>		_					193	<u>,865.</u>
2	Capital gain net income or (net capital	at loss) $ \begin{cases} & \text{if gain, also ente} \\ & \text{if (loss), enter -0} \end{cases} $	er in Part I, line)- in Part I, line	7 7	}	2				193	,865.
3	Net short-term capital gain or (loss) a	as defined in sections 1222(5) ar	nd (6)		$ \cdot $						
	If gain, also enter in Part I, line 8, col	umn (c)				_				7	E 2 0
_	If (loss), enter -0- in Part I, line 8	1 O	Dadward	Tow on Not		3					<u>,520.</u>
_		ler Section 4940(e) for					nent inc	ome			
(F	or optional use by domestic private for	undations subject to the section	4940(a) tax on	net investment in	come	9)					
lf:	section 4940(d)(2) applies, leave this j	part blank									
	, ,										™
	as the foundation liable for the section			•	1007					L Yes	X No
1	"Yes," the foundation does not qualify the Enter the appropriate amount in each										
<u>-</u>	(a)		TUCLIONS DETOILE	making any entire						(d)	
	Base period years	(b) Adjusted qualifying dis	stributions	Net value of no	(C) ncha		use assets		Distrib (col (b) div	uition ratio	(c)\
	Calendar year (or tax year beginning i	<u> </u>	6,903.				8,024		(COI (D) UIV		64898
	2010 2009		6,325.				9,503				$\frac{64874}{68874}$
_	2008		3,019.				8,733				$\frac{61646}{61646}$
-	2007		9,413.				7,790				$\frac{61010}{61051}$
_	2006		37,603.				8,735				60207
_			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	· · · · · · · · · · · · · · · · · · ·	Ť	,	.,,,,,,,	<u> </u>			
2	Total of line 1, column (d)							2		.3	16676
	Average distribution ratio for the 5-ye	ear hase period - divide the total	on line 2 hv 5	or by the number	of ve	ars		-			
ŭ	the foundation has been in existence	-	01, mio 2 by 0,	0. 0,0	0. ,0	4.0		3		.0	63335
	the foundation has been in existence	in 1000 than o yours									
4	Enter the net value of noncharitable-	use assets for 2011 from Part X,	, line 5					4		6,872	,760.
5	Multiply line 4 by line 3							5_		435	,286.
6	Enter 1% of net investment income (1% of Part I, line 27b)						6		3	,031.
7	Add lines 5 and 6							7		438	,317.
8	Enter qualifying distributions from Pa	art XII, line 4						8_		468	,346.
	If line 8 is equal to or greater than lin	e 7, check the box in Part VI, line	e 1b, and comp	lete that part usin	g a 1	% tax	rate				

	WILDEY H MITCHELL FAMILY FOUNDATION 990-PF(2011) WELLS FARGO PRIVATE CLIENT SERVICES		-622			Page 4
	rt VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or	or 494	s - see	Instru	CTIOI	ns)
	Exempt operating foundations described in section 4940(d)(2), check here and enter "N/A" on line 1 Date of ruling or determination letter: (attach copy of letter if necessary-see instructions) Domestic foundations that meet the section 4940(e) requirements in Part V, check here and enter 1%	1			3,0	31.
	of Part I, line 27b					
	All other domestic foundations enter 2% of line 27b Exempt foreign organizations enter 4% of Part I, line 12, col (b)					^
	· · · · · · · · · · · · · · · · · · ·	2			2 7	21 .
3	The same of the sa	3	-		3,0	
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-)	4			2 0	0.
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-	5	<u> </u>		3,0	31.
	Credits/Payments					
а	2011 estimated tax payments and 2010 overpayment credited to 2011 6a 4, 10	9.				
	Exempt foreign organizations - tax withheld at source					
C	Tax paid with application for extension of time to file (Form 8868)					
d	Backup withholding erroneously withheld 6d 6d					
7	Total credits and payments Add lines 6a through 6d		<u>' </u>		4,1	<u>09.</u>
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached	8				
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed	▶ 9	<u> </u>			
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid	▶ 1	0		1,0	78.
11	Enter the amount of line 10 to be Credited to 2012 estimated tax > 1,078. Refunded	<u>▶ 1</u>	1			0.
Pa	rt VII-A Statements Regarding Activities					
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or inter	vene in		<u> </u>	Yes	
	any political campaign?			1a		X
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for definitio	n)?		1b		X
	If the answer is "Yes" to 1aor 1b, attach a detailed description of the activities and copies of any materials published	olished c	r			
	distributed by the foundation in connection with the activities.					
C	Did the foundation file Form 1120-POL for this year?			10		X
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year					
	(1) On the foundation ▶ \$ (2) On foundation managers ▶ \$	0.				
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation					
	managers > \$ 0.					
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?			2		X
	If "Yes," attach a detailed description of the activities					
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporate	ion, or				
	bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes			3		X
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?			4a		X
	of "Yes," has it filed a tax return on Form 990-T for this year?		N/A	4b		
	Was there a liquidation, termination, dissolution, or substantial contraction during the year?			5		X
_	If "Yes," attach the statement required by General Instruction T					
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either					
_	By language in the governing instrument, or					
	By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the	state lav	ı			
	remain in the governing instrument?			6	Х	
7	Did the foundation have at least \$5,000 in assets at any time during the year?			7	Х	
•	If "Yes," complete Part II, col. (c), and Part XV.			**********		
Ra	Enter the states to which the foundation reports or with which it is registered (see instructions)					
O.	MN					

b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)

year 2011 or the taxable year beginning in 2011 (see instructions for Part XIV)? If "Yes," complete Part XIV

10 Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses

9 Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar

of each state as required by General Instruction G? If "No," attach explanation

Form **990-PF** (2011)

10

WILDEY H MITCHELL FAMILY FOUNDATION WELLS FARGO PRIVATE CLIENT SERVICES

	1990-PF (2011) WELLS FARGO PRIVATE CLIENT SERVICES 41-622	<u> 2997</u>		Page 5
P	art VII-A Statements Regarding Activities (continued)			
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of			
	section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		Х
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory privileges?			
	If "Yes," attach statement (see instructions)	12		Х
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	X	
	Website address ► N/A			
14	The books are in care of ▶ WELLS FARGO TRUST DEPARTMENT Telephone no ▶218-72	23-2	765	
	Located at ►222 W. SUPERIOR ST, SUITE 200, DULUTH, MN ZIP+4 ►5!			
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here		•	
_	and enter the amount of tax-exempt interest received or accrued during the year	N	/A	
16	At any time during calendar year 2011, did the foundation have an interest in or a signature or other authority over a bank,		Yes	No
	securities, or other financial account in a foreign country?	16	.00	X
	See the instructions for exceptions and filing requirements for Form TD F 90-22 1 If "Yes," enter the name of the foreign	10 1		
	country	1	- 1	
PE	art VII-B Statements Regarding Activities for Which Form 4720 May Be Required	ــــــــــــــــــــــــــــــــــــــ		
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.	T	Yes	No
19	During the year did the foundation (either directly or indirectly)		103	110
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? Yes X No			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a disqualified person? Yes X No			
			1	
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person?		1	
	(5) Transfer any income or assets to a disqualified person (or make any of either available			
	for the benefit or use of a disqualified person)?			
	(6) Agree to pay money or property to a government official? (Exception. Check "No"			
	if the foundation agreed to make a grant to or to employ the official for a period after		1	
	termination of government service, if terminating within 90 days)			
þ	ı If any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations			
	section 53 4941(d)-3 or in a current notice regarding disaster assistance (see instructions)? N/A	1b		
	Organizations relying on a current notice regarding disaster assistance check here	1		
C	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected		1	
	before the first day of the tax year beginning in 2011?	1c		X
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation			
	defined in section 4942(j)(3) or 4942(j)(5))		1	
а	At the end of tax year 2011, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning			
	before 2011? Yes X No		1	
	If "Yes," list the years			
b	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2) (relating to incorrect		- 1	
	valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer "No" and attach			
	statement - see instructions) N/A	2b	1	
C	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here			
·			1	
32	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time			
Ja	during the year?			
	·		1	
u	If "Yes," did it have excess business holdings in 2011 as a result of (1) any purchase by the foundation or disqualified persons after			
	May 26, 1969, (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose			
	of holdings acquired by gift or bequest, or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the foundation had excess business holdings in 2011.) N/A	_	1	
_	· · · · · · · · · · · · · · · · · · ·	3b		v
	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		<u>X</u>
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that		1	٠,
	had not been removed from jeonardy before the first day of the tay year beginning in 20112	1 Ah		¥

2 Compensation of five highest-paid employees (other than thos	e included on line 1). If none	enter "NONE."		
(a) Name and address of each employee paid more than \$50,000	(b) Title, and average hours per week devoted to position	(c) Compensation	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense account, othe allowances
NONE				
		<u> </u>		
Total number of other employees paid over \$50,000			D	

Form 990-PF (2011)

10111 000 11 (2011)	<u>-6222997 Page 7</u>
Part VIII Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Employees, and Contractors (continued)	
3 Five highest-paid independent contractors for professional services. If none, enter "NONE."	
(a) Name and address of each person paid more than \$50,000 (b) Type of service	(c) Compensation
NONE	
Total number of others receiving over \$50,000 for professional services	▶ 0
Part IX-A Summary of Direct Charitable Activities	
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the number of organizations and other beneficiaries served, conferences convened, research papers produced, etc.	Expenses
1 GRANTS TO CHARITABLE ORGANIZATIONS - SEE ATTACHED SCHEDULE.	
NUMBER OF ORGANIZATIONS SERVED WAS 46.	450 500
	458,500.
2	-
	1
3	
	-
4	
]
	<u>l</u>
Part IX-B Summary of Program-Related Investments Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2	Amount
1 N/A	Amount
	0.
2	_
	-
All other program-related investments. See instructions	
3	4
	-
Total. Add lines 1 through 3	0.

Form 990-PF (2011)

P	Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations	ndations	s, see instructions.)
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes		
а	Average monthly fair market value of securities	1a	6,832,814.
	Average of monthly cash balances	1b	144,607.
	Fair market value of all other assets	10	
	Total (add lines 1a, b, and c)	1d	6,977,421.
	Reduction claimed for blockage or other factors reported on lines 1a and		**-
	1c (attach detailed explanation) 1e 0 •		
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d	3	6,977,421.
4	Cash deemed held for charitable activities Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	104,661.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4.	5	6,872,760.
6	Minimum investment return. Enter 5% of line 5	6	343,638.
P	Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations are foreign organizations check here and do not complete this part.)	id certain	
1	Minimum investment return from Part X, line 6	1	343,638.
2a	Tax on investment income for 2011 from Part VI, line 5		
b	Income tax for 2011 (This does not include the tax from Part VI)		
C	Add lines 2a and 2b	2c	3,031.
3	Distributable amount before adjustments Subtract line 2c from line 1	3	340,607.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4	5	340,607.
6	Deduction from distributable amount (see instructions)	6	0.
7	Distributable amount as adjusted Subtract line 6 from line 5. Enter here and on Part XIII, line 1.	7	340,607.
P	art XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes		460 246
а	Expenses, contributions, gifts, etc - total from Part I, column (d), line 26	1a	468,346.
b	Program-related investments - total from Part IX-B	1b	<u> </u>
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the		
а	Suitability test (prior IRS approval required)	3a	
þ		3b	460 246
4	Qualifying distributions. Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4	4	468,346.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		2 021
	Income Enter 1% of Part I, line 27b	5	3,031. 465,315.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation 4940(e) reduction of tax in those years	qualifies 1	for the section

Form 990-PF (2011)

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2010	(c) 2010	(d) 2011
1 Distributable amount for 2011 from Part XI,	Vorpus	10013 prior to 2010	2010	2011
line 7				340,607.
2 Undistributed income, if any, as of the end of 2011		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
a Enter amount for 2010 only			0.	• • • • • • • • • • • • • • • • • • •
b Total for prior years		_		
··		0.		· · · · · · · · · · · · · · · · · · ·
3 Excess distributions carryover, if any, to 2011				
a From 2006 96,730.				
b From 2007 113, 183.				
t From 2008 89,928. d From 2009 113,760.				
100 000				
	515,829.			
f Total of lines 3a through e 4 Qualifying distributions for 2011 from	313,0236	······································		
Part XII, line 4 ▶ \$ 468, 346.				
a Applied to 2010, but not more than line 2a			0.	
b Applied to undistributed income of prior	HIII	<u></u>		
years (Election required - see instructions)		0.		
c Treated as distributions out of corpus				
(Election required - see instructions)	0.			
d Applied to 2011 distributable amount				340,607.
e Remaining amount distributed out of corpus	127,739.			
5 Excess distributions carryover applied to 2011 (If an amount appears in column (d), the same amount must be shown in column (a))	0.			0.
6 Enter the net total of each column as indicated below:				
2 Corpus Add lines 3f, 4c, and 4e Subtract line 5	643,568.			
b Prior years' undistributed income. Subtract				
line 4b from line 2b		0.		
c Enter the amount of prior years'				
undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b Taxable				
amount - see instructions		0.		
e Undistributed income for 2010 Subtract line				
4a from line 2a. Taxable amount - see instr			0.	
f Undistributed income for 2011 Subtract				
lines 4d and 5 from line 1. This amount must				
be distributed in 2012				0.
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by	0.			
section 170(b)(1)(F) or 4942(g)(3)	<u> </u>			
8 Excess distributions carryover from 2006	96,730.			
not applied on line 5 or line 7	90,730.			
9 Excess distributions carryover to 2012.	546,838.			
Subtract lines 7 and 8 from line 6a	340/030.			
10 Analysis of line 9 a Excess from 2007 113, 183.				
b Excess from 2008 89,928.				
c Excess from 2009 113,760.				
d Excess from 2010 102,228.				
e Excess from 2011 127,739.				
				5 000 DE (0044)

WILDEY H MITCHELL FAMILY FOUNDATION

WELLS FARGO PRIVATE CLIENT SERVICES Form 990-PF (2011) 41-6222997 Page 10 Part XIV Private Operating Foundations (see instructions and Part VII-A, question 9) N/A 1 a If the foundation has received a ruling or determination letter that it is a private operating foundation, and the ruling is effective for 2011, enter the date of the ruling b Check box to indicate whether the foundation is a private operating foundation described in section 4942(i)(3) or 4942(1)(5) Prior 3 years 2 a Enter the lesser of the adjusted net Tax year (c) 2009 (d) 2008 (a) 2011 (b) 2010 (e) Total income from Part I or the minimum investment return from Part X for each year listed **b** 85% of line 2a Qualifying distributions from Part XII, line 4 for each year listed d Amounts included in line 2c not used directly for active conduct of exempt activities e Qualifying distributions made directly for active conduct of exempt activities Subtract line 2d from line 2c Complete 3a, b, or c for the alternative test relied upon "Assets" afternative test - enter. (1) Value of all assets (2) Value of assets qualifying under section 4942(j)(3)(B)(i) b "Endowment" alternative test - enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed c "Support" alternative test - enter (1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties) (2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(III) (3) Largest amount of support from an exempt organization (4) Gross investment income Part XV | Supplementary Information (Complete this part only if the foundation had \$5,000 or more in assets at any time during the year-see instructions.) Information Regarding Foundation Managers: a List any managers of the foundation who have contributed more than 2% of the total contributions received by the foundation before the close of any tax year (but only if they have contributed more than \$5,000) (See section 507(d)(2)) NONE b List any managers of the foundation who own 10% or more of the stock of a corporation (or an equally large portion of the ownership of a partnership or other entity) of which the foundation has a 10% or greater interest Information Regarding Contribution, Grant, Gift, Loan, Scholarship, etc., Programs: Check here \(\sum \big| \sum \big| \sum \big| \limin \big| if the foundation only makes contributions to preselected charitable organizations and does not accept unsolicited requests for funds. If the foundation makes gifts, grants, etc. (see instructions) to individuals or organizations under other conditions, complete items 2a, b, c, and d a The name, address, and telephone number of the person to whom applications should be addressed b The form in which applications should be submitted and information and materials they should include c Any submission deadlines d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors

WILDEY H MITCHELL FAMILY FOUNDATION

Form 990-PF (2011) WELLS FARGO PRIVATE CLIENT SERVICES 41-6222997 Page 11

Part XV Supplementary Information (continued)

t are XV Cupple mentally information		····		
3 Grants and Contributions Paid During the Y	ear or Approved for Future	Payment		
Recipient Name and address (home or business)	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of recipient	Purpose of grant or contribution	Amount
a Paid during the year	Of Substantial Contributor	Tecipiant		- ,
a rad doming the year				
SEE ATTACHED SCHEDULE			CHARITABLE	
SEE ATTACHED SCHEDULE				458,500
Total	<u> </u>	T .	▶ 3a	458,500
h Approved for future payment				
NONE				
Total		·	▶ 3b	0.

Unrelated business income

Excluded by section 512, 513, or 514

Part XVI-A **Analysis of Income-Producing Activities**

Enter gross amounts unless otherwise indicated				d by section 512, 513, or 514	(8)	
1 Program service revenue	(a) Business code	(b) Amount	Exclu- sion code	(d) Amount	Related or exempt function income	
a						
b						
C	1				· · · · · · · · · · · · · · · · · · ·	
· · · · · · · · · · · · · · · · · · ·	1 :	· · · · · · · · · · · · · · · · · · ·				
" 						
e						
g Fees and contracts from government agencies			1-1-		····	
2 Membership dues and assessments			+ +			
3 Interest on savings and temporary cash	 -				<u> </u>	
Investments			14	312		
4 Dividends and interest from securities	 		14	312. 148,196.		
5 Net rental income or (loss) from real estate				140/170.		
	-				······································	
a Debt-financed property			+-+			
b Not debt-financed property	-		- - -			
6 Net rental income or (loss) from personal						
property	 		+-+-			
7 Other investment income					·	
8 Gain or (loss) from sales of assets other			18	102 065		
than inventory			10	193,865.		
9 Net income or (loss) from special events				· · · · · · · · · · · · · · · · · · ·		
10 Gross profit or (loss) from sales of inventory			-			
11 Other revenue			1 1 1	F.C.		
a MISC STOCK SETTLEMENTS			14	56.		
b	f I					
C					- -	
d						
e			_			
12 Subtotal Add columns (b), (d), and (e)		0	•	342,429.	0.	
13 Total. Add line 12, columns (b), (d), and (e)				13	342,429.	
(See worksheet in line 13 instructions to verify calculations)						
Part XVI-B Relationship of Activities	to the Accor	nplishment of I	Exempt	Purposes		
					h-h	
Explain below how each activity for which income the foundation's exempt purposes (other than			-A contribut	ted importantly to the accomp	disnment of	
	by providing fund	is for such purposes/		· · · · · · · · · · · · · · · · · · ·		
N/A						
						
				···		
					····	
				······································	<u> </u>	
						
123621 12-02-11					Form 990-PF (201	

Form 990-PF (2011) WELLS FARGO PRIVATE CLIENT SERVICES 41-6222997

Part XVII Information Regarding Transfers To and Transactions and Relationships With Noncharitable

LAF	• X • V V X X	Exempt Organ	-		anu Transactions	and Relations	iips with Noticile	IIIIabit	7	
1	Old the or			y of the followin	ng with any other organizat	ion described in secti	on 501/c) of		Yes	No
					27, relating to political orga		011 00 1(0) 01		.03	110
		from the reporting found:			-	III.LUUOII3		1		
	1) Cash		ation to a nonchar	itabio exciript of	gamzation of			1a(1)	1	Х
	2) Other							1a(2)		X
	Other tran							10(2)		
			hla avamat araasi	-ation				45/41	1	Х
		of assets to a noncharita						1b(1)		X
	•	nases of assets from a no	•	t organization				1b(2)	\vdash	X
	•	il of facilities, equipment,						1b(3)		X
		bursement arrangements	•					1b(4)		X
		s or loan guarantees	mbarahin ar fundi	raiaina a aliaitatia	una.			1b(5)		X
	•	rmance of services or me		-				1b(6)		X
	-	f facilities, equipment, ma	-		• •	luana abani tha fara a		10		
		•		-	idule Column (b) should a	•	•		ets,	
		s given by the reporting it i) the value of the goods,			ed less than fair market val	ue ili any transaction	or snaming arrangement,	SHOW III		
(a) Lin		(b) Amount involved			exempt organization	(d) Decembles				
N/A		(b) Amount involved	(c) Name	Of HOHCHaritable	exempt organization	(u) Description	of transfers, transactions, and	snanng an	angeme	its
N/ A	· -									
			 							
			 			- 			_	
			· · · · · · · · · · · · · · · · · · ·		·				_	
			 			- 				
	{						·			
		·····								
			ļ			 				
		 -								
					<u> </u>	· 				
			 							
							 			
						- 				
						 				
		· · · · · · · · · · · · · · · · · · ·	<u> </u>			<u> </u>				
		•	•		or more tax-exempt organ	izations described	_		F-4.7	1
		501(c) of the Code (other		(c)(3)) or in sect	ion 527?		L	Yes	X) No
<u>b l</u>	f "Yes," co	implete the following scho			1 a 1 = 1					
		(a) Name of org	janization		(b) Type of organization		c) Description of relations	hip		
N/A	<u> </u>									
										
				_		<u> </u>				
						 				
										
	and he				ig accompanying schedules and n taxpayer) is based on all infor		M8	y the IRS o		
Sign		of the	$\Rightarrow z_{n,0}$	_	1x <td>1 / N</td> <td>hea a she</td> <td>wn below</td> <td></td> <td>r)?</td>	1 / N	hea a she	wn below		r)?
Her		yjour	J Jack	m	N 3/14/12	- VINGEC	on Jospicer	X Yes	L] No
	Sign	ature of efficer or truste6			Date /	Title	Chook T of DTIN			
		Print/Type preparer's na	ame	Preparer's si	gnature C		Check if PTIN			
<u>.</u>		MTOURDE ST	CTIM TO DAT	[mi]	and J. Villan	Curs	self- employed	0000	420	
Paid		MICHAEL AL		MICHAE	T WITTHAN	10114		0020		
	parer	Firm's name ► EIK	ILL & SC	HILLING	LTD.		Firm's EIN ► 41-1	2081	<i>3 </i>	
USE	Only	Firm's address 5 2 2	O W CHIDE	DIOD CO	CUTME COO	 _				
					., SUITE 600	,	. (210	, 700	47	1 E
		טע טע	LUTH, MN	22807			Phone no (218	722	-4/(<u>, 5</u>

• (a) List and	describe the kind(s) of property solo	d, e g , real estate,	(b) How acquired P - Purchase	Ital para andangal	(d) Date sold
	rick warehouse, or common stock, 20	UU Shs MLC Co	D - Donation	(mo,day,yr)	(mo , day, yr)
	D SECURITIES				
b PUBLICLY TRADE		MD AGWING TIND			
c POWERSHARES DB					
d POWERSHARES DB			- 		
e POWERSHARES DB		TRACKING FUND		 	·····
	COMMODITY INDEX	TRACKING FUND	- 		
	DIVIDENDS				
h			· 		
<u>.</u>					
<u> </u>					
<u>k</u>					
<u></u>					
<u>m</u>					
n 0					
(e) Gross sales price	(f) Depreciation allowed	(g) Cost or other basis		Gain or (loss)	
	(or allowable)	plus expense of sale	(e) p	lus (f) minus (g)	
a 238,565.		246,607.			-8,042.
b 1,331,493.		1,141,986.			189,507.
c				· .	-1,844.
<u>d</u>					4,928.
e				 -	2,366.
1 2 402					3,548.
g 3,402.					3,402.
h				····	
<u> </u>					
!					
<u>k</u>					
<u>m</u>			· · · · · · · · · · · · · · · · · · ·		 -
0			· · · · · · · · · · · · · · · · ·		
Complete only for assets showing	ng gain in column (h) and owned by t	the foundation on 12/31/69	(I) Los	ses (from col (h))	
(i) F M V as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) Excess of col (i) over col (j), if any	Gains (excess o	of col (h) gain over ot less than "-0-")	col (k),
a			**		-8,042.
b	· · · · · · · · · · · · · · · · · · ·				189,507.
c			**		-1,844.
d					4,928.
8			**		2,366.
f					3,548.
g					3,402.
h					
1					
<u> </u>					
k					
1					
<u>m</u>					
<u>n</u>	<u> </u>				
0					
2 Capital gain net income or (net ca	apital loss) { If gain, also enter If (loss), enter "-0	in Part I, line 7 -" in Part I, line 7	2		193,865.
3 Net short-term capital gain or (los if gain, also enter in Part I, line 8,	ss) as defined in sections 1222(5) an column (c)	\			
If (loss), enter "-0-" in Part I, line	<u> </u>		3		<u>-7,520.</u>

FORM 990-PF INTEREST ON SAV	INGS AN	D TEMP	PORARY CA	ASH I	NVESTMENTS	STATEMENT	1
SOURCE						AMOUNT	
DB COMMODITY INDEX TRACKING IMONEY MARKET	FUND K-	1					53. 59.
TOTAL TO FORM 990-PF, PART I	, LINE	3, COI	LUMN A			3	12.
FORM 990-PF DIVIDENT	DS AND	INTERI	EST FROM	SECU	RITIES	STATEMENT	2
SOURCE		GROSS	AMOUNT		ITAL GAINS	COLUMN (A AMOUNT)
BONDS EQUITIES	_	:	34,385. 117,213.		0. 3,402.	34,3 113,8	
TOTAL TO FM 990-PF, PART I,	LN 4 =		151,598.		3,402.	148,1	96.
FORM 990-PF	OT	HER II	NCOME			STATEMENT	3
DESCRIPTION]	(A) REVENUE PER BOOKS	5	(B) NET INVEST- MENT INCOME		
MISC STOCK SETTLEMENTS				56.	56	•	56.
TOTAL TO FORM 990-PF, PART I	, LINE	11		56.	56	•	56.
FORM 990-PF	ACC	OUNTI	NG FEES			STATEMENT	4
FORM 990-PF DESCRIPTION	ACC (A EXPEN PER B	() ISES	NG FEES (B) NET INVENT INC		(C) ADJUSTED NET INCOM	(D) CHARITA	BLE
	(A EXPEN PER B	() ISES	(B) NET INVE MENT INC		ADJUSTED NET INCOM	(D) CHARITA	BLE

FORM 990-PF C	THER PROFES	SIONAL FEES		ATEMENT 5
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
ADMIN FEES - WELLS FARGO BANK	38,856.	29,142.	0.	9,714.
TO FORM 990-PF, PG 1, LN 16C	38,856.	29,142.	0.	9,714.
FORM 990-PF	TAX	ES	rs	PATEMENT 6
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
MN FEE FOREIGN TAXES	25. 549.	0.	0.	0.
TO FORM 990-PF, PG 1, LN 18	574.	0.	0.	0.
FORM 990-PF	OTHER E	XPENSES	rs	ATEMENT 7
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES
MISCELLANEOUS INSURANCE	3,340. 1,744.	3,340.	0.	0.
TO FORM 990-PF, PG 1, LN 23	5,084.	3,340.	0.	0.

FORM 990-PF U.S. AND STAT	E/CITY GOVERNMEN	T OBLIGATIONS	STATEMENT 8
DESCRIPTION	U.S. OTHER GOV'T GOV'T	BOOK VALUE	FAIR MARKET VALUE
BONDS - SEE ATTACHED	<u> </u>	333,785.	370,255.
TOTAL U.S. GOVERNMENT OBLIGATION	s	333,785.	370,255.
TOTAL STATE AND MUNICIPAL GOVERN	MENT OBLIGATIONS		
TOTAL TO FORM 990-PF, PART II, L	INE 10A	333,785.	370,255.
FORM 990-PF	CORPORATE STOCK		STATEMENT 9
DESCRIPTION		BOOK VALUE	FAIR MARKET VALUE
STOCK - SEE ATTACHED		4,706,610.	4,866,560.
TOTAL TO FORM 990-PF, PART II, L	INE 10B	4,706,610.	4,866,560.
FORM 990-PF	CORPORATE BONDS		STATEMENT 10
DESCRIPTION		BOOK VALUE	FAIR MARKET VALUE
BONDS - SEE ATTACHED		968,220.	929,843.
DONDS - SEE ATTACHED			

WILDEY H. MITCHELL FAMILY FOUNDATION CONTRIBUTION HISTORY EIN 41-6222997 ATTACHMENT TO FORM 990-PF, PART IX-A & PART XV

	2011
ALZHEIMER'S ASSOCIATION	7,000
AMERICAN RED CROSS	25,000
BENEDICTINE HEALTH CENTER FDN	10,000
BOYS & GIRLS CLUB OF DULUTH	70,000
DULUTH EMERGENCY FOOD SHELF -CHUM	25,000
COMMUNITY ACTION PROGRAM	10,000
CULVER ACADEMIES	1,000
DAMIANO CENTER	3,000
DULUTH AREA FAMILY YMCA	5,000
DULUTH ART INSTITUTE	5,000
DULUTH BETHEL	6,000
DULUTH CHILDRENS MUSEUM	8,000
THE DULUTH PLAYHOUSE	4,000
DULUTH-SUPERIOR AREA COM FDN	10,000
DULUTH-SUPERIOR EDUCATIONAL WDSE	6,500
DULUTH-SUPERIOR SYMPHONY FDN.	10,000
FIRST WITNESS PROGRAM	9,000
HARTLEY NATURE CENTER	6,000
HARVARD LAW SCHOOL	1,000
LAKE SUPERIOR CHAMBER ORCHESTRA	4,000
LITTLE TREASURES CENTER	5,000
LUTHERAN SOCIAL SERVICES	5,000
THE MARSHALL SCHOOL	1,000
MILLER-DWAN FOUNDATION	20,000
MINNESOTA BALLET	5,000
NORTHWOOD CHILDRENS SERVICES	3,000
PILGRIM CONGREGATIONAL CHURCH	3,000
BONG WORLD WAR II HERITAGE CENTER	20,000
SCOTTISH RITE FOUNDATION	20,000
ESSENTIA HEALTH FOUNDATION	7,500
SOAR CAREER SOLUTIONS	5,000
ST, LUKE'S FOUNDATION	20,000
COLLEGE OF ST SCHOLASTICA	15,000
THE HOTCHKISS SCHOOL	1,000
THE NOTCHRISS SCHOOL THE SALVATION ARMY	25,000
UNION GOSPEL MISSION	25,000
UNITED WAY OF GREATER DULUTH	10,500
UNIVERSITY OF MINNESOTA-DULUTH	5,000
BOY SCOUTS VOYAGEURS AREA COUNCIL #286	10,000
WOODLAND HILLS	10,000
YALE UNIVERSITY	1,000
-	5,000
YWCA	•
DULUTH PUBLIC SCHOOL ENDOWMENT FUND	2,500
NORTHLAND YOUTH MUSIC PROGRAM	2,500
DULUTH PUBLIC LIBRARY FOUNDATION	1,000
CITY OF DULUTH - ENGER PARK RESTORATION	5,000
2011 Total Grant Awards	458,500

WELLS FARGO	
D _H	

MITCHELL, WILDEY FAMILY FON SUP AG
AHACHART TO FORM 990 PF Account Statement For:

Period Covered: January 1, 2011 - December 31, 2011

01410 Par+II

	Accrued Income		\$0.40	0.61 \$1.01	\$1.01	Accrued	\$185.07	34.23
	CURRENT		0.01%	0.01 0.01%	0.01%	YIELD TO MATURITY	0.23%	5.46
	UNREALIZED GAIN/LOSS	\$0.00 \$0.00	\$0.00	0.00 \$0.00	\$0.00	UNREALIZED VIELD TO GAIN/LOSS MATURITY	\$22.75	930.34
	Cost Basis	\$4,113.25 \$4,113.25	\$51,664.40	13,535.47 \$65,199.87	\$69,313.12	Cost Basis	\$25,936 50	5,892.58
	MARKET VALUE AS OF 12/31/11	\$4,113.25 \$4,113.25	\$51,664.40	13,535.47 \$65,199.87	\$69,313.12	MARKET VALUE AS OF 12/31/11	\$25,959.25	6,822.92
	PRKE					Pince	\$103.837	116.259
L 223997	Qианпт		51,664.400	13,535.470		PAR VALUE	25,000.000	5,868.720
CPPECCO-14 41-6239999	Asser Description Cash & Equivalents	CASH INCOME Total Cash	FEDERATED TREAS OBL FD 68	Asset neid in invested income Portiono FEDERATED TREAS OBL FD 68 Total Money Market	Total Cash & Equivalents	Asser Description Fixed Income	GOVERNMENT OBLIGATIONS FED NATL MTG ASSN DTD 02/07/08 3.250 04/09/2013 CUSIP: 31398AMW9 MOODY'S RATING: AAA	STANDARD & POOR'S RATING: AA+ GOVT NATL MTG ASSN POOL #455065 DTD 11/01/97 7.0000 11/15/2027 CUSIP. 36208MQS7 MOODY'S RATING: N/A STANDARD & POOR'S RATING: N/A

ω	
	5
	ź
E	₫
	4

Account Statement For: MITCHELL, WILDEY FAMILY FDN SUP AG $\frac{1}{2} + \frac{1}{2} + \frac{1}{$

Period Covered: January 1, 2011 - December 31, 2011

Attachinent to Fo Part II Line 10

EIN HI-63339997 ASSET DETAIL (continued)

Asser Description Fixed Income (continued)	PAR VALUE	PRICE	Market Value as of 12/31/11	Cost Basis	UNREALIZED GAIN/LOSS N	YIELD TO Maturity	Accrued
GOVERNMENT OBLIGATIONS (continued)							
GOVT NATL MTG ASSN POOL #528892 DTD 03/01/03 5.000 03/15/2018 CUSIP: 36212BRM7 MOODY'S RATING: N/A STANDARD & POOR'S RATING: N/A	10,746 220	109.103	11,724.45	11,068.62	655.83	3.36	44.78
GOVT NATL MTG ASSN POOL #S84350 DTD 04/01/02 5.500 04/15/2017 CUSIP: 36201JEX3 MOODY'S RATING: N/A STANDARD & POOR'S RATING: N/A	17,752.200	108.947	19,340.49	17,774.39	1,566.10	3.63	81.36
GOVT NATL MTG ASSN POOL #600747 DTD 02/01/04 4.500 02/15/2019 CUSIP: 36200GL46 MOODY'S RATING: N/A STANDARD & POOR'S RATING: N/A	27,370.690	108.669	29,743.46	27,747.03	1,996.43	3.13	102.64
GOVT NATL MTG ASSN POOL #651204 DTD 01/01/06 5.000 01/15/2021 CUSIP. 36292KNV4 MOODY'S RATING: N/A STANDARD & POOR'S RATING: N/A	28,215.900	109.103	30,784.39	28,171.85	2,612.54	3.80	117.57
GOVT NATL MTG ASSN POOL #663095 DTD 01/01/07 6.000 01/15/2022 CUSIP: 36294XUU8 MOODY'S RATING: N/A STANDARD & POOR'S RATING: N/A	13,247.740	109.731	14,536 88	13,483.72	1,053.16	4.77	66.24



Period Covered: January 1, 2011 - December 31, 2011

Account Statement For:
MITCHELL, WILDEY FAMILY FON SUP AG

A HACKMENT TO FORM

PART II CINC. 10

EIN 41-6333997

				I
				l
				l
:	1	•	۰	4
ſ	ι	ï	3	i
	1	j	Ц	ı
	٠		Ę	ı
	ì			1
	3			ł
	١			i
	è		٦	:1
	ì	١		1
•	÷	•		1
				l
				K
				ı
	d		ŕ	ı
	٠	į	ŀ	ıl
L				ı
•				J
ŀ	ı			H
d	,	١	١	Į
ľ			2	I
				ı
þ				ı
i	•	ı	ı	ď
•	•	١	١	ı
ı	1	ľ	١	ı
i	7		٠	1
ŧ	į	•	1	ı
	•	ı	ø	1

Asser Description	Par Value	PRICE	MARKET VALUE AS OF 12/31/11	Cost Basis	UNREALIZED YIELD TO GAIN/LOSS MATURITY	VIELD TO MATURITY	ACCRUED INCOME
Fixed Income (continued) GOVERNMENT OBLIGATIONS (continued)							
US TREASURY INFLATION BOND DTD 01/15/10 1.375 01/15/2020 CUSIP: 912828MF4 MOODY'S RATING: AAA STANDARD & POOR'S RATING: N/A	104,712.000	113.859	119,224.04	99,594.46	19,629.58	- 0.33	665.08
US TREASURY INFLATION INDEX NOTE DTD 04/15/09 1,250 04/15/2014 CUSIP: 912828KM1 MOODY'S RATING: AAA STANDARD & POOR'S RATING: N/A	106,995.000	104.789	112,118.99	104,115 66	8,003.33	- 0.82	285.01
Total Government Obligations			\$370,254.87	\$333,784.81	\$36,470.06		\$1,581.98
CORPORATE OBLIGATIONS							
BB&T CORPORATION MED TERM NOTE DTD 09/25/09 3.375 09/25/2013 CUSIP: 05531FAE3 MOODY'S RATING: A2 STANDARD & POOR'S RATING: A-	50,000.000	\$103.438	\$51,719.00	\$50,568.00	\$1,151.00	1.36%	\$450.00
GENERAL ELEC CAP CORP DTD 01/07/11 2.100 01/07/2014 CUSIP: 36962G4X9 MOODY'S RATING: AA2 STANDARD & POOR'S RATING: AA+	50,000.000	101.497	50,748 50	50,859.00	- 110.50	1.35	507.50
HSBC HLDGS PLC DTD 12/12/02 5.250 12/12/2012 CUSIP: 404280AB5 MOODY'S RATING: A1 STANDARD & POOR'S RATING: A-	20,000.000	101.951	50,975.50	50,351.50	624.00	3.15	138.54
Marshall & Ilsley Bank Dtd 08/22/02 5.250 09/04/2012 Cusip: 53259paco Moody's Rating: A2 Standard & Poor's Rating: A-	50,000.000	102.750	51,375.00	50,212.50	1,162.50	1.16	853.13

~	~	-
	ญี	0
	Ę	RG
	Œ.V	ĐA

Account Statement For:

Period Covered: January 1, 2011 - December 31, 2011

MITCHELL, WILDEY FAMILY FON SUP AG
A HACHNEN + TO FORM 990-PF
PART I LINE 10

C668887-11 ASSET DETAIL (continued)

Asset Description	PAR VALUE	PRICE	MARKET VALUE AS OF 12/31/11	Cost Basis	UNREALIZED GAIN/LOSS P	Упець то Мативіту	Accrued
Fixed Income (continued) CORPORATE OBLIGATIONS (continued)							
MORGAN STANLEY DTD 01/26/10 4.100 01/26/2015 CUSIP: 61747YCL7 MOODY'S RATING: A2 STANDARD 8. POOR'S RATING: A-	100,000.000	94.921	94,921.00	102,592.00	- 7,671.00	5.93	1,765.28
MAL-MART STORES INC DTD 04/05/07 5.000 04/05/2012 CUSIP: 931142CF8	50,000.000	101.130	50,565.00	51,500.00	- 935.00	4 94	597.22
STANDARD & POORS RATING: AA Total Corporate Obligations			\$350,304.00	\$356,083.00	- \$5,779.00		\$4,311.67
Asser Description Fixed Income	Qианптт	PRICE	MARKET VALUE AS OF 12/31/11	Cost Basis	UNREALIZED GAIN/LOSS	CURRENT YIELD	Acrued
DOMESTIC MUTUAL FUNDS JPMORGAN HIGH YIELD FUND SELECT SHARES #3580	16,902.184	\$7.620	\$128,794.64	\$140,416.63	- \$11,621.99	7.72%	\$0.00
RIDGEWORTH SEIX HIGH YIELD BOND FUND CLASS 1#5855 CUSIP: 76628T645	15,075.377	9.410	141,859.30	150,000.00	- 8,140.70	7.76	30.15
Total Domestic Mutual Funds			\$270,653.94	\$290,416.63	- \$19,762.69	7.74%	\$30.15

ଫୁ	Õ	
5	33	
回	\blacksquare	
15	Ω	

Period Covered: January 1, 2011 - December 31, 2011

Account Statement For:
MITCHELL, WILDEY FAMILY FON SUP AG

Attachment to Form 990-PF
PART LINE 10

71-63339917 ASSET DETAIL (continued) E ()

Asset Description	QUANTITY	PRICE	MARKET VALUE AS OF 12/31/11	Cost Basis	Unrealized Gain/Loss	CURRENT YIELD	Acrued
Fixed Income (continued)							
INTERNATIONAL MUTUAL FUNDS							•
DREYFUS EMERGING MARKETS DEBT LOCAL CURRENCY FUND CLASS 1#6083	6,970.397	\$13.160	\$91,730.42	\$103,626.18	- \$11,895.76	5.20%	\$0.00
CUSIP: 261980494	1	955	70 731 710	210.003.73	7820-	5.13	000
TEMPLETON GLOBAL BOND FUND - ADVISOR CLASS #616	17,554.969	123/0	76.4.21	67660,012		;	
CUSIP: 880208400					CA 500 CEA	700	00
Total International Mutual Funds			\$308,885.39	19.61/,135\$	- 5 12,634.34	<u> </u>	
Total Fixed Income			\$1,300,098.20	\$1,302,004.35	- \$1,906.15		\$5,923.80

Account Statement	MITCHELL, WILDEY	A HOUNING
	- -	305 205 205 205 205 205 205 205 205 205 2

reamily FDN SUP AG at to Form 990-PF

Period Covered: January 1, 2011 - December 31, 2011

Cise 10 EIS 41

ASSET DETAIL (continued)

Asser Description Equities	QUANTITY	Prece	MARKET VALUE AS OF 12/31/11	Cost Basis	UNREALIZED GAIN/LOSS	CURRENT YIELD	Accaued
CONSUMER DISCRETIONARY AMAZON COM INC COM	130.000	\$173.100	\$22,503.00	\$12,566.19	\$9,936.81	0.00%	\$0.00
SYMBOL: AMZN CUSIP: 0.23135106 CHIPOTLE MEXICAN GRILL INC CL A	34.000	337.740	11,483.16	5,098.03	6,385.13	00:00	0.00
SYMBOL: CMG CUSIP: 169656105 COACH INC SYMROI: COH CLISIP: 189754104	134.000	61.040	8,179.36	7,631.61	547.75	1.47	31.28
LAS VEGAS SANDS CORP	239.000	42.730	10,212.47	11,143.41	- 930.94	0.00	0.00
SYMBOL: LVS CUSIP. 517834107 PRICELINE COM INC COM NEW	23.000	467.710	10,757.33	11,196.34	- 439.01	0.00	00 0
SYMBOL: PCLN CUSIP: 741503403 STARWOOD HOTELS & RESORTS WORLDWIDE INC COM	253.000	47.970	12,136.41	15,805.77	- 3,669.36	1 04	0.00
SYMBOL: HOT CUSIP: 85590A401 TRACTOR SUPPLY CO COM SYMROL: TSCO CUSIP: 892336106	374.000	70 150	26,236.10	6,469.86	19,766 24	890	00 0
Total Consumer Discretionary			\$101,507.83	\$69,911.21	\$31,596.62	0.42%	\$31.28
CONSUMER STAPLES COCA COLA CO	218.000	\$69.970	\$15,253.46	\$15,215.70	\$37.76	2 69%	\$0.00
STANDOL: NO COSTI : 171210100 COSTO WHOLESALE CORP COMMON: COST CIRIL 27140M105	165.000	83 320	13,747.80	13,362.31	385.49	115	0.00
STRIBOLL COST COST. 221000105 ESTEE LAUDER COMPANIES INC SYMROL: FI CLISIP: 518439104	114.000	112.320	12,804 48	11,545.16	1,259 32	0.93	0.00
WHOLE FOODS MKT INC SYMROL: WEM CLISIP: 966837106	144.000	69.580	10,019.52	9,191.97	827.55	0.80	0.00
Total Consumer Staples			\$51,825.26	\$49,315.14	\$2,510.12	1.48%	\$0.00

Period Covered: January 1, 2011 - December 31, 2011

Account Statement For:

MITCHELL, WILDEY FAMILY FON SUP AG

A HAUTHUM TO FORM PROPPE

PART TO FORM 10

EIN 41-6333972 ASSET DETAIL (continued)

Asser Description Equities (continued)	Quantity	Pace	Markey Value as of 12/31/11	Cost Basis	Unrealded (Gain/Loss	CURRENT YIELD	Accrued
ENERGY CONCHO RESOURCES INC	134.000	\$93.750	\$12,562.50	\$11,219 94	\$1,342.56	%00.0	\$0.00
STMBOL: CAO COSP.: 20003F131 EXXON MOBIL CORPORATION SYMBOL: XOM CUSIP: 30231G102	377.000	84.760	31,954.52	23,964.77	7,989.75	2.22	0.00
FMC TECHNOLOGIES INC SYMBOL: FTI CUSIP: 30249U101	306.000	52.230	15,982.38	10,029.48	5,952.90	0.00	0.00
NATIONAL OILWELL VARCO INC COM SYMBOL: NOV CUSIP: 637071101	101.000	67.990	6'896'9	7,206.61	- 339.62	0.71	0.00
Total Energy			\$67,366.39	\$52,420.80	\$14,945.59	1.12%	\$0.00
FINANCIALS							
INTERCONTINENTALEXCHANGE INC SYMBOL: ICE CUSIP: 45865V100	133.000	\$120.550	\$16,033.15	\$8,863.11	\$7,170.04	%00.0	\$0.00
Total Financials			\$16,033.15	\$8,863.11	\$7,170.04	%00.0	\$0.00
HEALTH CARE							
ALLERGAN INC SYMBOL: AGN CUSIP: 018490102	188.000	\$87.740	\$16,495.12	\$15,182.90	\$1,312.22	0.23%	\$0.00
CELGENE CORP COM SYMBOL: CELG CUSIP: 151020104	247.000	67.600	16,697.20	15,775.50	921.70	0.00	0.00
HMS HLDGS CORP COM SYMBOL: HMSY CUSIP: 40425J101	507.000	31.980	16,213.86	10,491.13	5,722.73	0.00	0.00
MEDCO HEALTH SOLUTIONS INC SYMBOL: MHS CUSIP: 58405U102	136.000	55.900	7,602.40	6,776.08	826.32	0.00	0.00
UNIVERSAL HEALTH SVCS INC CL B SYMBOL: UHS CUSIP: 913903100	194.000	38.860	7,538.84	7,635.14	- 96.30	0.51	0.00
WATERS CORP SYMBOL: WAT CUSIP: 941848103	82.000	74.050	6,072.10	7,624.26	- 1,552.16	0.00	0.00
Total Health Care			\$70,619.52	\$63,485.01	\$7,134.51	0.11%	\$0.00

U P	inozi ;	Ac		RGO H	
	ino i	Ä	M	#	<u> </u>
			Accour		<i>(</i> 0, 0)

Period Covered: January 1, 2011 - December 31, 2011

L WILDEY FAMILY FON SUP AG

L MILDEY FAMILY FON SUP AG

INCENT TO FORM 990-PF

- IT LINE 10

41-6333997 ASSET DETAIL (CONTINUE 1) CIN

Asset Description	Очантт	Price	MARKET VALUE AS OF 12/31/11	Cost Basis	UNREALIZED GAIN/LOSS	CURRENT YIELD	Accrued Income
Equities (continued)							
INDUSTRIALS					1	ò	,
DANAHER CORP	264 000	\$47.040	\$12,418.56	53,442.64	\$8,975.92	0.21%) p. p.
SYMBOL: DHR CUSIP: 235851102 FASTENAL CO	277.000	43.610	12,079.97	6,057.29	6,022.68	1.28	0.00
SYMBOL: FAST CUSIP: 311900104 FEDEX CORPORATION	121.000	83.510	10,104.71	11,361.75	- 1,257.04	0.62	15.73
SYMBOL: FDX CUSIP: 31428X106 PRECISION CASTPARTS CORP	189.000	164.790	31,145.31	14,894.96	16,250.35	0.07	2.67
SYMBOL: PCP CUSIP: 740189105 STERICYCLE INC COM	120.000	77.920	9,350.40	5,934.88	3,415.52	0.00	000
SYMBOL: SRCL CUSIP: 858912108 UNION PACIFIC CORP	212.000	105.940	22,459.28	16,394.91	6,064.37	2.26	132.00
SYMBOL: UNP CUSIP: 907818108			\$97,558.23	\$58,086.43	\$39,471.80	0.80%	\$160.00



Account Statement For:

Period Covered: January 1, 2011 - December 31, 2011

MITCHELL, WILDEY FAMILY FON SUP AG PRO-PF C. 2010 Attachment Part II Cir

EIN 41-6333997 ASSET DETAIL (continued)

Asset Description	Qианптт	PRICE	MARKET VALUE AS OF 12/31/11	Cost Basis	UNREALIZED GAIN/LOSS	CURRENT VIELD	Accrued
INFORMATION TECHNOLOGY APPLE INC	151.000	\$405.000	\$61,155.00	\$15,178.07	\$45,976.93	%00.0	\$0.00
SYMBOL: AAPL CUSIP: 037833100 CITRIX SYS INC COM	184.000	60.720	11,172.48	5,874.99	5,297.49	0.00	0.00
COGNIZACIONE TECHNOLOGICO	214.000	64.310	13,762.34	15,211.95	- 1,449.61	0.00	0.00
GOOGLE INC	45.000	645.900	29,065.50	27,352.55	1,712.95	0.00	0.00
SYMBOL: GOOG CUSIP: 38259P508 INTUIT COM	231.000	52.590	12,148 29	11,647.15	501.14	1.14	0.00
SYMBOL: INTU CUSIP: 461202103 NETAPP INC	286.000	36.270	10,373.22	12,450.85	- 2,077.63	0.00	0.00
SYMBOL: NIAP CUSIF: 64110D104 ORACLE CORPORATION SYMROI : ORC! CUSIP: 68389X105	640.000	25.650	16,416.00	17,448.46	- 1,032.46	0.94	0.00
QUALCOMM INC SYMROL: OCOM CLISIP: 247525103	352.000	54.700	19,254.40	19,755.21	- 500.81	1.57	0.00
RACKSPACE HOSTING INC SYMROL: RAX CUSIP: 750086100	265.000	43 010	11,397.65	7,171.46	4,226.19	0.00	0.00
Total Information Technology			\$184,744.88	\$132,090.69	\$52,654.19	0.32%	\$0.00
MATERIALS	000 731	644 270	\$7 393 00	¢8 995 20	- \$1 602 11	0.54%	\$0.00
CELANESE CORP SYMBOL: CE CUSIP: 150870103	000.791	٠/٦٠	60.060,14	07:00:00	1.00(1)		
ECOLAB INC SYMBOI - FCI CUSIP: 278865100	286.000	57.810	16,533.66	10,624.46	5,909.20	1.38	57.20
MONSANTO CO NEW	105.000	70.070	7,357.35	7,638 66	- 281.31	171	0.00
Total Materials			\$31,284.10	\$27,258.32	\$4,025.78	1.26%	\$57.20

MITCHELL, WILDEY FAMILY FON SUP AG A Hainnint to Form 990-PF Part II. LINE 10 Account Statement For:

Period Covered: January 1, 2011 - December 31, 2011

ASSET DETAIL (continued)

ر ر
-299
\sim
1.3
2
FIN THE
Ш

Asser Description Equities (continued)	QUANTITY	PRICE	MARKET VALUE AS OF 12/31/11	Cost Basis	Unrealized Gain/Loss	CURRENT YIELD	Accrued
TELECOMMUNICATION SERVICES AMERICAN TOWER SYSTEMS CORP CL ³ S A SYMBOL: AMT CUSIP: 029912201	313.000	\$60.010	\$18,783.13	\$15,727.70	\$3,055.43	0.00%	\$0.00
Total Telecommunication Services			\$18,783.13	\$15,727.70	\$3,055.43	0.00%	\$0.00
INTERNATIONAL EQUITIES ACCENTURE PLC CUSIP. G1151C101	338.000	\$53.230	\$17,991.74	\$12,448.24	\$5,543.50	2.54%	\$0.00
CARNIVAL CORP CUSIP: 143658300	293.000	32.640	9,563 52	7,193.15	2,370.37	3 06	0.00
COMPANHIA DE BEDIDAS DAS AMI. ICAN (AMBEV) CUSIP: 20441W203	544.000	36.090	19,632.96	16,397.41	3,235.55	213	0.00
COOPER INDUSTRIES PLC NEW IR! AND CUSIP: G24140108	240.000	54,150	12,996 00	10,487.23	2,508.77	2.14	72.21
DIAGEO PLC - ADR SPONSORED ADR CUSIP: 25243Q205	221.000	87.420	19,319.82	16,756.20	2,563.62	2.97	0.00
POTASH CORP SASK CUSIP: 7375SL107	493.000	41.280	20,351.04	17,087.46	3,263.58	0.68	0000
SCHLUMBERGER LTD CUSIP: 806857108	355.000	68.310	24,250.05	25,212.22	- 962.17	1.46	91.75
SXC HEALTH SOLUTIONS CORP CUSIP: 78505P100	140.000	56.480	7,907.20	7,951.75	- 44.55	000	0.00
Total International Equities			\$132,012.33	\$113,533.66	\$18,478.67	1.90%	\$163.96

w c	,
	ś
图名	
≱ [₄	

Account Statement For:
MITCHELL, WILDEY FAMILY FON SUP AG
AHACHMENT TO FORM 990-PF
PORT I Line 10

Period Covered: January 1, 2011 - December 31, 2011

EIN 41-6333997

ASSET DETAIL (continued)

Asset Description	QUANTITY	PRKE	MARKET VALUE AS OF 12/31/11	Cost Basis	UNREALIZED GAIN/LOSS	CURRENT YIELD	Acrued
Equities (continued)							
DOMESTIC MUTUAL FUNDS							
DODGE & COX STOCK FUND #145 SYMBOL: DODGX CUSIP: 256219106	7,558.931	\$101.640	\$768,289.75	\$826,782.11	- \$58,492.36	1 73%	\$0.00
ISHARES RUSSELL 2000 SYMBOL: IWM CUSIP. 464287655	3,500.000	73.750	258,125.00	264,584.20	- 6,459 20	1.40	0.00
ISHARES TR RUSSELL MIDCAP GROWTH	3,700.000	55.050	203,685.00	173,012.00	30,673.00	0 93	0.00
SYMBOL: IWP CUSIP: 464287481							
JP MORGAN MID CAP VALUE FUND-CLASS I	9,260.664	23 750	219,940.77	182,473.95	37,466.82	1.19	0:00
SYMBOL: FLMVX CUSIP. 339128100							
Total Domestic Mutual Funds			\$1,450,040.52	\$1,446,852.26	\$3,188.26	1.47%	\$0.00
INTERNATIONAL MUTUAL FUNDS							
DODGE & COX INTERNATIONAL STOCK FUND SYMBOL: DODFX CUSIP: 256206103	11,739.133	\$29.240	\$343,252.25	\$313,869.82	\$29,382.43	2 60%	\$0.00
ISHARES MSCI EAFE SYMBOL: EFA CUSIP: 464287465	2,000.000	49.530	00'090'66	105,537 80	- 6,477.80	3.45	0.00
ISHARES MSCI EAFE GROWTH SYMBOL: EFG CUSIP: 464288885	5,400.000	52.010	280,854.00	399,762.00	- 118,908.00	2.48	0.00
ISHARES TR MSCI EMERGING MARKETS INDEX FUND	11,855.000	37.940	449,778.70	406,335.13	43,443.57	2.13	0.00
SYMBOL: EEM CUSIP: 464287234							
Total International Mutual Funds			\$1,172,944.95	\$1,225,504.75	- \$52,559.80	2.46%	\$0.00
Total Equities			\$3,394,720.29	\$3,263,049.08	\$131,671.21	1.67%	\$412.44

Account Statement For: MITCHELL, WILDEY FAMILY FDN SUP AG

Period Covered: January 1, 2011 - December 31, 2011

MARGO PACH II LINE 1D

EIN 41-6223997

ASSET DETAIL (continued)

Asser Description Complementary Strategies	QUANTITY	PRICE	MARKET VALUE AS OF 12/31/11	Cost Basis	Unrealized Gain/Loss	CURRENT VIELD	Accrued
OTHER DIAMOND HILL LONG-SHORT FUND CLASS I	20,946.494	\$16.930	\$354,624.14	\$330,743.42	\$23,880.72	0.03%	\$0.00
SYMBOL: DHLSX CUSIP: 25264S833 HUSSMAN STRATEGIC GROWTH FUND #601 CYMBOL: HGGEY CHSID: 448108100	23,088.564	12.430	286,990.85	285,571.94	1,41891	0.22	0.00
Total Other			\$641,614.99	\$616,315.36	\$25,299.63	0.12%	\$0.00
Total Complementary Strategies			\$641,614.99	\$616,315.36	\$25,299.63	0.12%	\$0.00

Ω	0
MENT	FARG
	· · · -

790-AF MITCHELL, WILDEY FAMILY FON SUP AGA HACHACHACH TO FORM PLATE CINE 10 Account Statement For:

Period Covered: January 1, 2011 - December 31, 2011

EIN 41-6333997

ASSET DETAIL (continued)

Asser Description Real Assets	Qианттт	PRICE	MARKET VALUE AS OF 12/31/11	Cost Basis	Unrealized Gain/Loss	CURRENT VIELD	Accrued Income
REAL ASSET FUNDS							
COHEN & STEERS INTERNATIONAL REALTY 1#1396 SYMBOL: IRFIX CUSIP: 19248H401	18,954.374	\$9.020	\$170,968 45	\$235,291.19	- \$64,322.74	8.72%	\$0.00
ISHARES TR COHEN & STEERS REALTY MAJORS INDEX FUND SYMBOL: ICF CUSIP: 464287564	3,920.000	70.220	275,262.40	217,405.60	57,856.80	2.97	0.00
POWERSHARES DB COMMODITY INDEX SYMBOL: DBC CUSIP: 73935S105	12,350 000	26.840	331,474.00	314,008.46	17,237.54	000	0.00
SPDR DJ WILSHIRE INTERNATIONAL REAL ESTATE ETF SYMBOL: RWX CUSIP: 78463X863	1,650.000	31.830	52,519.50	60,540.42	- 8,020.92	7.39	000
Total Real Asset Funds			\$830,224.35		\$2,750.68	3.25%	\$0.00
Total Real Assets			\$830,224.35		\$2,750.68	3.25%	\$0.00
TOTAL ASSETS			ACCOUNT VALUE AS OF 12/31/11 \$6,235,970.95	UNREALIZED GAIN/LOSS L, U7, 97, 58 \$157,815.37	UNREALIZED GAIN/LOSS \$157,815.37	V	Accrued Income \$6,337.25